(I

Soku‘\‘\‘c:ﬁ@ +o 6@{‘(:{86’, 3120

P(Everny Cand %:e;n% D)

P (EventC) x PCEvent D)
0.3 x O-19

= Q. 045

P (Event A and Eyerdt B)
P (Bvent A) x D( Event R)
2. X A
-1 2.
Y
-4
-

1



3. A coin s tossed and o die is rolled.
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4 A coinis tossed twice.
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5. A card is chosen and a Coin is tossed.

a) PC Ace ond Head) b)) P(Tail ond not-Club)

= PCA) x P(H) = PN x P(ToD)
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6. A card is  chesen From 52, cards .
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Git) P(foce caxd and qu ot apqdes)
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8. Apartment Building =10 floors, % apts [Hoor

a) P(5™hFloor and even)  b)Plakove 5 ond >6)
= P(E™ Ooor) x Pleven) = Plabove 5™y PG6)

= x40 = D X 20.
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q. Q83 This canbe

o . written ass
Adu s Adults under
O3 Vs F 2S yrs Sy (P\duﬁs O3S yrS 'y
5

% (AdUBs under 25)

a) PlUnderd5 and Under 95)
= PlUnder H5) x PlUnder OF)
= _%)_ X %'3_

= a
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B) P(Psyrst and 5 yrst and Under 95)
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